Math251 Worksheet 5 November 6, 2013
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[EC 12.1.2] If R = [ 1,3] x [0,2], use a Riemann sum with m = 4, n = 2 to estimate the
value of UR(UZ — 22%) dA. Take sample points to be the upper left corners of the squares.

[EC 12.1.{12,16,20}] Calculate the iterated integral.
(a) [24 /711 (22 +y?) dy dz
102 et .
M) Jo i £ dy de
(c) .[b] ,/'01 ry/ 2%+ y? dy dx

[EC 12.1.22] Calculate // cos(a + 2y) dA for R = [0, 7] x [0, 7/2].
R

dy
3+ 2

[EC 12.2.8] Evaluate the double integral // dA where D = {(z,y): 1 <a <2,0<
D
y < 2z}

[EC 12.2.24] Find the volume of the solid bounded by the cylinder y?+ 2% = 4 and the planes
x =2y, x =0, and z = 0 in the first octant (where z, y, and z are all at least 0).
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